
� Jenny is 4 times as old as Ryan. Ryan is 7 

years old. How old is Jenny? 

 

� Todd had 4 marbles. He got 7 more. How 

many marbles does he have all together? 

 

� Nick had 7 toy cars. He lost 4. How many are 

left? 

 

� Nathan had 7 cookies. He split them 

between 4 people. How many did each person 

get? 

� Jenny is 4 times as old as Ryan. Ryan is 16 

years old. How old is Jenny? 

 

� Todd had 16 marbles. He got 4 more. How 

many marbles does he have all together? 

 

� Nathan had 16 baseball cards. He put them 

in 4 rows. How many cards were in each row?  

 

� Nick had 16 toy cars. He lost 4. How many 

are left? 

choose a story problem that matches. 





� Jenny is 4 times as old as Ryan. Ryan is 9 

years old. How old is Jenny? 

 

� Todd had 4 marbles. He got 9 more. How 

many marbles does he have all together? 

 

� Nick had 9 toy cars. He lost 4. How many are 

left? 

 

� Nathan had 9 cookies. He split them 

between 4 people. How many did each person 

get? 

� Jenny is 2 times as old as Ryan. Ryan is 14 

years old. How old is Jenny? 

 

� Todd had 14 marbles. He got 2 more. How 

many marbles does he have all together? 

 

� Nathan had 14 baseball cards. He put them 

in 2 rows. How many cards were in each row?  

 

� Nick had 14 toy cars. He lost 2. How many 

are left? 

choose a story problem that matches. 

 



Use your keyword chart 

to determine which 

operation to use to 

solve these problems. 



Choose one: 

No because the problem suggests division 

Yes because that is how a division problem is solved 

No because you need to do 28 x 7 

____ ÷ ____ = ____ ________________ 

          label 

Use the equation you chose above. 

Use your keyword chart to 

determine which operation to 

use to solve these problems. 



 

Count the number of tiles it takes to 

fill the rectangle 

Length x Width = 

Area 

 

Or 

 

Top x Side = 

Area 

There are 3 


